Problem report for:

BigShouldersStencillopsz,wghtl.ttf

sha1: 73f09beccb3377e5635c18b/43468b8b696af 1fd4
Family name: Big Shoulders Stencll

Version: Version 2.001

Parameters:
Error tolerance: 0.95
Kink—reporting aggressiveness: 0.5
Legend:
» Contour start point and direction
e Contour start point when the first two points overlap
» Contour start point in contours with wrong direction
Suggested new contour start point
Point causing kink in the contour
Kink artifact
|:| Colored contours: contours with the wrong order
[l Underweight contours

Tolerance: badness; closer to zero the worse



Summary of problems

contour_order: 3
AE
hbar
product

wrong_start_point: 6
AE
eng.sc
f_f
Nn.sC
uni2Z0OBA
W.SC

underweight: 6
AE
eng.sc
f_f
n.sc
uniZ0BA
W.SC



G|yph name: AE tolerance: 0.03

Problems: contour_order, underweight, wrong_start_point

midway interpolation

o
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'opsz=10.0’ proposed fix
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G|yph name: AE tolerance: 0.00

Problems: contour_order, underweight, wrong_start_point

'opsz=10.0’ midway interpolation
1 ]
'wght=256.9824" proposed fix




G|yph name: AE tolerance: 0.09

Problems: contour_order, underweight, wrong_start_point

'wght=900.0’ midway interpolation

’opsz=10.0 wght=256.9824’ proposed fix




Glyph name: product

Problems: contour_order

| |
‘opsz=10.0’

tolerance: 0.19

midway interpolation

proposed fix




Glyph name: product tolerance: 0.02

Problems: contour_order

‘opsz=10.0’ midway interpolation
I | I |
'wght=256.9824" proposed fix




Glyph name: product tolerance: 0.41

Problems: contour_order

'wght=900.0’ midway interpolation

’opsz=10.0 wght=256.9824’ proposed fix




G|yph name: hbar tolerance: 0.28
Problems: contour_order
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midway interpolation
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'opsz=10.0’ proposed fix
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Glyph name: hbar

Problems: contour_order

'opsz=10.0’

'wght=256.9824’
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tolerance: 0.13

midway interpolation

L1

q

proposed fix
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Glyph name: hbar

Problems: contour_order

'wght=900.0’

‘opsz=10.0 wght=256.9824"
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tolerance: 0.55

midway interpolation

SN

proposed fix
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Glyph name: uni2Z0BA tolerance: 0.03

Problems: underweight, wrong_start_point

midway interpolation
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'opsz=10.0’ proposed fix
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Glyph name: uni2Z0BA tolerance: 0.01

Problems: underweight, wrong_start_point

'opsz=10.0’ midway interpolation
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Glyph name: uni2Z0BA tolerance: 0.05

Problems: underweight, wrong_start_point

'wght=900.0’ midway interpolation
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’opsz=10.0 wght=256.9824" proposed fix
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G|yph name: w.sc tolerance: 0.10

Problems: underweight, wrong_start_point

bR

midway interpolation

'opsz=10.0’ proposed fix
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G|yph name: w.sc tolerance: 0.03

Problems: underweight, wrong_start_point

'opsz=10.0’ midway interpolation

'wght=256.9824" proposed fix
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G|yph name: w.sc tolerance: 0.28

Problems: underweight, wrong_start_point

'wght=900.0’ midway interpolation
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‘opsz=10.0 wght=256.9824" proposed fix
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Glyph name: eng.sc

Problems: underweight, wrong_start_point
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'opsz=10.0’
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tolerance: 0.18

midway interpolation

proposed fix




G|yph names: eng,sc tolerance: 0.04

Problems: underweight, wrong_start_point

'opsz=10.0’ midway interpolation
] ]
'wght=256.9824" proposed fix
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G|yph name: eng,sc tolerance: 0.20

Problems: underweight, wrong_start_point

'wght=900.0’ midway interpolation
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‘opsz=10.0 wght=256.9824" proposed fix
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G|yph name: Nn.sc tolerance: 0.18

Problems: underweight, wrong_start_point

bR

midway interpolation

'opsz=10.0’ proposed fix
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G|yph name: Nn.sc tolerance: 0.04

Problems: underweight, wrong_start_point

'opsz=10.0’ midway interpolation
[ | ]
'wght=256.9824" proposed fix
]
[ |
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G|yph name: Nn.sc tolerance: 0.20

Problems: underweight, wrong_start_point

'wght=900.0’ midway interpolation

‘opsz=10.0 wght=256.9824" proposed fix
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G|yph name: f_f tolerance: 0.53

Problems: underweight, wrong_start_point
| ]
'opsz=10.0’ proposed fix
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midway interpolation




G|yph name: f_f tolerance: 0.12

Problems: underweight, wrong_start_point

'opsz=10.0’ midway interpolation

'wght=256.9824" proposed fix
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G|yph name: f_f tolerance: 0.25

Problems: underweight, wrong_start_point

'wght=900.0’ midway interpolation
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’opsz=10.0 wght=256.9824" proposed fix
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